[image: image1.png]1. Determine whether the following sets of functions are linearly dependent or indepen-
dent.

a) {e cos(t), e sin(bt)}
b) {1.cos? f,cos 26}
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where n is a constant, is an important differential equation that arises, for example,
in the study of the vibrations of a circular drumhead.

a) Let g1 () and ya() be any two solutions to Bessel's equation. Withont computing
wn and g, determine their Wronskian.
sine

b) One solution to (1) with n = 1/2 is

. Find a second linearly independent
VE
solution.

¢) Compute the Wronskian for the two solutions you found in part b).




[image: image3.png]3. One solution to ty” — (¢ +2)y’ + 2y = 0 is ¢ Find a second linearly independent
solution.




